SN541508, SN741S08

QUADRUPLE 2-INPUT POSITIVE-AND GATES

recommended operating conditions

SNB4L 508 SN74L508
~e] UNIT. ?
MIN NOM  MAX MIN NOM  MAX i«
Vo Supply voltage 4.5 5 55 | 4.75 5 525 4\
V)n  High-level input valtage 2 2 ’:
ViL Low-level input voliage 0.7 o8 v -
ioH High-tevel outpul current - 0.4 - 0.4 miA
inL  Low-level output current " 4 B mA,
Ta Operaung free-arr temperature — 8§ 125 0 70 %

electrical characteristics over recommended operating free-air temperature range {u

niess otherwise noted)

SNEALSOR SN741L.508
PARAMETER TEST CONDITIONS 1 UNIT
MIN TYP$ MaX | MIN TYPE MAX
Vi Ve = MIN, lj==18mA -15 - 1.5 v
VoM Ve = MIN, Vig=2Vv, lgp = -04mA 25 3.4 2.7 34 v
'_'1 . Vee=MIN, V) =MAX, gL = 4mA 0.26 04 0 04|
VoL
r= Vep = MIN, V) sMAX, lgp =BmaA- 035 058
Qo I Voo = MAX, V=7V 01 01 | ma
@
< R Vg = MAX, V=27V 20 20 uh
g m Vop = MAX,  Vis0.4V -04 -04 | ma
w Igs§ Vg = MAX - 20 —100 | - 20 -~ 100 mA,
lcoH Voe=MAX, V=45V 24 48 2.4 48 mA
IcoL Voo = MAX,  Vj=0V 44 88 44’ 88 | ma
T For conditions shown as MIN or MAX, use the appropsiate value specifed under recommandad operating conditions,
TAltypical values sre 81 Ve =5 V, Ty = 25%
§ Mot mare than one cutput should be shorted 8t & time, and the duration of the shart-circuit should not sxceed onae second.
switching characteristics, Ve = 5V, Ta = 25°C (see note 2)
FROM TO
PARAMETER . TEST CONDITIONS MIN TYP MAX | UNIT
INPUT) {QUTPUT) ’
tPLH 8 15 ns
AorB Y RL = 2ks, Cp =15pF
PR . 10 20 ns
NOTE 2: Load circuits and voitage waveforms are shown in Section 1.
1
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Max (15 ns, 20 ns) 4 Max (15 ns, 20 ns)+ Max (1S ng, 15 ns)
200 + 2005+ 1505 = 55 s

(2) M (225,22 n5) + Mawe (15, 15) + Maxe(15,20) + Mg (15,15)

22MS &+ 15mng & 20 Ng + 15 ng
72 WMs

(3) Max (15ng, 15ns) = 15 7S
=> WofS'l’-CASc. propnad-imal oldﬁ(j =
Mo (ease |, case 2, ease 3)
= Mok (55 ns, 32 ns,15ns) = F2Z NS
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